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1. Explain the differences between rigid body mechanics and deformable body mechanics.

The changes of geometry are not considered for a rigid body. The relative distances between a body (structure) parts are fixed.

2. List the two systems of units you will be using in this course CE 201.

The two systems are: 1) British (US) system [lbm; feet; sec, and their derivatives such as a force of 1 lbf]; International System (SI) [ kg; m; sec.; and their derivatives such as a force of 1 N= 1.0 kg . m/ sec2].

3. Determine the resultant force R  (using vector addition and the laws of sines and cosines) of the two forces F1 and F2 and show it clearly on the figure.

      







Add force forces’ vectors tail to tail as shown above. 

The resultant: 0 – 2* 850)/ 2= 950. 
Magnitude: R= [2002 + 1002 – 2* 200(100) cos kN.

Direction: 




F2/ sin R/sin where:angle between R and F

Then: sin-1 [F2/(R/sin sin-1 [100/(231.27/sin 950)]= 25. 52 0.

This means resultant R is a vector with angle below the x-axis
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